

## **City of Tempe**

## **Bid Tabulation**

Bid Date 07/25/2023 Bid Time 9:00 a.m.

Country Club Way from ASU Research Park to US-60 Bike Pedestrian Bridge Project No. 6008961

## Base Bid

Item No.	Item Name	Quantity	Unit	Eng. Est. Unit Cost Total Cost	LOW MOUNTAIN CONSTRUCTION, INC	AJP ELECTRIC INC
1	CONSTRUCTION SURVEY AND LAYOUT ALLOWANCE (0.75%)	1	AL	\$31,000.00 \$31,000.00	\$31,000.00 \$31,000.00	\$31,000.00 \$31,000.00
2	CONSTRUCTION RECORD DRAWING ALLOWANCE (0.25%)	1	AL	\$11,000.00 \$11,000.00	\$11,000.00 \$11,000.00	\$11,000.00 \$11,000.00
3	MOBILIZATION/DEMOBILIZATION (8% OF CONSTRUCTION COST) (8%)	1	LS	\$370,000.00 \$370,000.00	\$96,896.26 \$96,896.26	\$400,000.00 \$400,000.00
4	CLEARING AND GRUBBING	1	LS	\$32,500.00 \$32,500.00	\$15,931.75 \$15,931.75	\$10,000.00 \$10,000.00
5	SUBGRADE PREPARATION	17220	SY	\$5.00 \$86,100.00	\$6.22 \$107,108.40	\$7.50 \$129,150.00
6	PAVEMENT REPLACEMENT, COT STD DET T-450	211	SY	\$200.00 \$42,200.00	\$92.19 \$19,452.09	\$160.00 \$33,760.00
7	MICRO MILL EXISTING AC PAVEMENT	21837	SY	\$10.00 \$218,370.00	\$2.28 \$49,788.36	\$2.00 \$43,674.00
8	TYPE III MICROSURFACING	21837	SY	\$10.00 \$218,370.00	\$6.66 \$145,434.42	\$7.00 \$152,859.00
9	VERTICAL CURB AND GUTTER TYPE A, MAG STD. DTL. 220	1728	LF	\$45.00 \$77,760.00	\$67.77 \$117,106.56	\$43.00 \$74,304.00
10	SINGLE CURB, TYPE A, H=6", MAG STD DTL 222	217	LF	\$38.00 \$8,246.00	\$67.77 \$14,706.09	\$56.00 \$12,152.00
11	CONCRETE HEADER 8"x8", COT STD DET SLD014	8857	LF	\$8.00 \$70,856.00	\$22.99 \$203,622.43	\$15.00 \$132,855.00

7/25/2023 Page 1 7/25/2023

12	RIBBON CURB (TYPE 'B'), MAG 220-1	80	LF	\$34.00 \$2,720.00	\$120.80 \$9,664.00	\$56.00 \$4,480.00
13	CONCRETE SIDEWALK, COT STD DET T-345, 6" THICK	59835	SF	\$14.00 \$837,690.00	\$8.73 \$522,359.55	\$9.50 \$568,432.50
14	BOLLARD, MAG 140	4	EA	\$1,200.00 \$4,800.00	\$895.52 \$3,582.08	\$750.00 \$3,000.00
15	CONCRETE SIDEWALK RAMP, MAG STD DET 236-5	30	EA	\$3,500.00 \$105,000.00	\$1,855.17 \$55,655.10	\$5,400.00 \$162,000.00
16	CONCRETE SIDEWALK RAMP, MAG STD DET 237-1	8	EA	\$3,000.00 \$24,000.00	\$1,855.17 \$14,841.36	\$5,200.00 \$41,600.00
17	CONCRETE SIDEWALK RAMP, MAG STD DET 237-2	5	EA	\$3,300.00 \$16,500.00	\$1,855.17 \$9,275.85	\$5,400.00 \$27,000.00
18	CONCRETE SIDEWALK RAMP, MAG STD DET 238-1	2	EA	\$3,300.00 \$6,600.00	\$1,855.17 \$3,710.34	\$4,000.00 \$8,000.00
19	CONCRETE SIDEWALK RAMP, MAG STD DET 238-3	4	EA	\$3,000.00 \$12,000.00	\$1,855.17 \$7,420.68	\$4,450.00 \$17,800.00
20	CONCRETE SIDEWALK RAMP, MAG STD DET 236-2	1	EA	\$3,200.00 \$3,200.00	\$1,855.17 \$1,855.17	\$5,400.00 \$5,400.00
21	DETECTABLE WARNING STRIP, COT STD DTL T-329 (TERRACOTTA)	508	SF	\$270.00 \$137,160.00	\$60.51 \$30,739.08	\$65.00 \$33,020.00
22	ADJUST NEW VALVE BOX AND COVER TO GRADE	14	EA	\$1,000.00 \$14,000.00	\$90.76 \$1,270.64	\$540.00 \$7,560.00
23	ADJUST MANHOLE FRAME AND COVER TO GRADE	56	EA	\$1,000.00 \$56,000.00	\$181.52 \$10,165.12	\$580.00 \$32,480.00
24	SAWCUT AND REMOVE EXISTING AC PAVEMENT	597	SY	\$28.00 \$16,716.00	\$25.97 \$15,504.09	\$25.00 \$14,925.00
25	SAWCUT AND REMOVE EXISTING SIDEWALK/RAMPS	10488	SF	\$8.00 \$83,904.00	\$1.83 \$19,193.04	\$3.00 \$31,464.00
26	REMOVE AND REPLACE CURB INLET (MAG STD. DTL. 532)	2	EA	\$10,400.00 \$20,800.00	\$363.05 \$726.10	\$12,000.00 \$24,000.00
27	REMOVE EXISTING HEADWALL	1	EA	\$1,950.00 \$1,950.00	\$605.08 \$605.08	\$1,000.00 \$1,000.00
28	REMOVE PEDESTRIAN LIGHT POLE	5	EA	\$5,000.00 \$25,000.00	\$605.08 \$3,025.40	\$2,200.00 \$11,000.00

7/25/2023 Page 2 7/25/2023

29	REMOVE EXISTING BOLLARDS	10	EA	\$700.00 \$7,000.00	\$363.05 \$3,630.50	\$250.00 \$2,500.00
30	CONCRETE PIPE COLLAR, MAG STD DTL 505	1	EA	\$1,690.00 \$1,690.00	\$786.60 \$786.60	\$1,500.00 \$1,500.00
31	24IN STORM DRAIN PIPE	27	LF	\$170.00 \$4,590.00	\$58.09 \$1,568.43	\$200.00 \$5,400.00
32	HEADWALL WITH TRACH TRACK, MAG STD DTL 502-1	1	EA	\$10,400.00 \$10,400.00	\$6,655.88 \$6,655.88	\$6,500.00 \$6,500.00
33	TRAFFIC CONTROL ALLOWANCE	1	AL	\$150,000.00 \$150,000.00	\$150,000.00 \$150,000.00	\$150,000.00 \$150,000.00
34	CENTERLINE STRIPING	9620	LF	\$1.20 \$11,544.00	\$1.62 \$15,584.40	\$1.75 \$16,835.00
35	YELLOW STRIPING	430	LF	\$1.20 \$516.00	\$2.42 \$1,040.60	\$2.60 \$1,118.00
36	LEFT TURN LANE STRIPING (SOLID WHITE 8 INCH)	445	LF	\$1.20 \$534.00	\$1.62 \$720.90	\$1.75 \$778.75
37	DASHED BIKE LANE STRIPING	370	LF	\$1.20 \$444.00	\$1.62 \$599.40	\$1.75 \$647.50
38	BIKE LANE STRIPING	41580	LF	\$1.20 \$49,896.00	\$1.62 \$67,359.60	\$1.75 \$72,765.00
39	STOP BAR STRIPING	475	LF	\$5.00 \$2,375.00	\$3.27 \$1,553.25	\$3.60 \$1,710.00
40	LONGITUDINAL CROSSWALK STRIPING	450	LF	\$3.00 \$1,350.00	\$6.68 \$3,006.00	\$7.20 \$3,240.00
41	TRANSVERSE CROSSWALK STRIPING	1800	LF	\$5.50 \$9,900.00	\$3.34 \$6,012.00	\$3.60 \$6,480.00
42	50' GREEN BIKE LANE PAVEMENT SYMBOL	6	EA	\$950.00 \$5,700.00	\$3,025.40 \$18,152.40	\$3,250.00 \$19,500.00
43	TYPICAL BIKE LANE SYMBOL	17	EA	\$650.00 \$11,050.00	\$242.03 \$4,114.51	\$265.00 \$4,505.00
44	SINGLE ARROW PAVEMENT MARKING SYMBOL	8	EA	\$550.00 \$4,400.00	\$248.08 \$1,984.64	\$265.00 \$2,120.00
45	SHARROW PAVEMENT MARKING SYMBOL	78	EA	\$850.00 \$66,300.00	\$350.95 \$27,374.10	\$385.00 \$30,030.00

7/25/2023 Page 3 7/25/2023

46	SPEED HUMP PAVEMENT SYMBOL	10	EA	\$350.00 \$3,500.00	\$635.33 \$6,353.30	\$683.00 \$6,830.00
47	XING PAVEMENT LEGEND	2	EA	\$550.00 \$1,100.00	\$387.25 \$774.50	\$425.00 \$850.00
48	NEW SIGN (POLE MOUNTED)	39	EA	\$500.00 \$19,500.00	\$382.71 \$14,925.69	\$75.00 \$2,925.00
49	NEW SIGN, POST AND FOUNDATION	45	EA	\$950.00 \$42,750.00	\$153.09 \$6,889.05	\$430.00 \$19,350.00
50	REMOVE EXISTING CENTERLINE STRIPING	4600	LF	\$2.50 \$11,500.00	\$1.74 \$8,004.00	\$1.90 \$8,740.00
51	REMOVE EXISTING LEFT TURN LANE STRIPING	205	LF	\$2.50 \$512.50	\$1.74 \$356.70	\$1.90 \$389.50
52	REMOVE EXISTING TRAVEL LANE STRIPING	20	LF	\$2.50 \$50.00	\$0.87 \$17.40	\$1.00 \$20.00
53	REMOVE EXISTING BIKE LANE STRIPING	20	LF	\$2.50 \$50.00	\$1.74 \$34.80	\$1.90 \$38.00
54	REMOVE EXISTING STOP BAR STRIPING	340	LF	\$2.50 \$850.00	\$3.49 \$1,186.60	\$3.75 \$1,275.00
55	REMOVE EXISTING CENTER TURNING LANE STRIPING	40	LF	\$2.50 \$100.00	\$1.74 \$69.60	\$1.90 \$76.00
56	REMOVE EXISTING CROSSWALK STRIPING	1515	LF	\$5.00 \$7,575.00	\$3.49 \$5,287.35	\$3.75 \$5,681.25
57	REMOVE EXISTING SINGLE ARROW PAVEMENT SYMBOLS	3	EA	\$150.00 \$450.00	\$72.61 \$217.83	\$78.00 \$234.00
58	REMOVE EXISTING SPEED HUMP SYMBOL	10	EA	\$150.00 \$1,500.00	\$242.03 \$2,420.30	\$260.00 \$2,600.00
59	REMOVE EXISTING XING LEGEND	2	EA	\$150.00 \$300.00	\$90.76 \$181.52	\$100.00 \$200.00
60	REMOVE AND SALVAGE EXISTING SIGN, POST & FOUNDATION	18	EA	\$175.00 \$3,150.00	\$211.78 \$3,812.04	\$100.00 \$1,800.00
61	TRAFFIC SIGNAL REMOVAL PER PLAN SHEET NUMBERS 144 AND 147	1	LS	\$26,840.00 \$26,840.00	\$18,152.39 \$18,152.39	\$48,000.00 \$48,000.00
62	RELOCATE TRAFFIC SIGNAL POLE	6	EA	\$7,692.66 \$46,155.96	\$3,025.40 \$18,152.40	\$12,800.00 \$76,800.00

7/25/2023 Page 4 7/25/2023

63	TRAFFIC SIGNAL POLE - MODULAR COT (TYPE A-1)	1	EA	\$19,140.00 \$19,140.00	\$20,572.71 \$20,572.71	\$18,200.00 \$18,200.00
64	TRAFFIC SIGNAL POLE - MODULAR COT (TYPE Q)	2	EA	\$70,488.00 \$140,976.00	\$41,145.42 \$82,290.84	\$36,400.00 \$72,800.00
65	MODULAR COT POLE FOUNDATION (T-577)	6	EA	\$1,100.00 \$6,600.00	\$968.13 \$5,808.78	\$800.00 \$4,800.00
66	MODULAR COT POLE FOUNDATION (T-540, T-552, T-554, T-556 T-570)	9	EA	\$15,000.00 \$135,000.00	\$21,782.87 \$196,045.83	\$25,900.00 \$233,100.00
67	MODULAR COT MAST ARM (3.5 FT.)	2	EA	\$7,500.00 \$15,000.00	\$6,050.80 \$12,101.60	\$900.00 \$1,800.00
68	MODULAR COT MAST ARM (25 FT.)	2	EA	\$25,000.00 \$50,000.00	\$20,572.71 \$41,145.42	\$24,000.00 \$48,000.00
69	MODULAR ADD-ON STRUCTURE 2 (T-561)	3	EA	\$2,800.00 \$8,400.00	\$8,108.07 \$24,324.21	\$6,275.00 \$18,825.00
70	ELECTRICAL CONDUIT (2") (PVC)	225	LF	\$25.00 \$5,625.00	\$96.81 \$21,782.25	\$40.00 \$9,000.00
71	ELECTRICAL CONDUIT (2.5") (PVC)	150	LF	\$45.00 \$6,750.00	\$99.23 \$14,884.50	\$48.00 \$7,200.00
72	ELECTRICAL CONDUIT (2-3") (PVC)	75	LF	\$95.00 \$7,125.00	\$145.22 \$10,891.50	\$60.00 \$4,500.00
73	TRAFFIC SIGNAL CONDUCTORS	1	LS	\$50,000.00 \$50,000.00	\$68,231.22 \$68,231.22	\$70,000.00 \$70,000.00
74	PULL BOX (#7)	2	EA	\$900.00 \$1,800.00	\$3,025.40 \$6,050.80	\$1,250.00 \$2,500.00
75	TRAFFIC SIGNAL FACE (TYPE F) (12")	10	EA	\$1,500.00 \$15,000.00	\$1,270.67 \$12,706.70	\$1,325.00 \$13,250.00
76	TRAFFIC SIGNAL FACE (PEDESTRIAN) (MAN/HAND)	2	EA	\$1,300.00 \$2,600.00	\$1,573.21 \$3,146.42	\$1,250.00 \$2,500.00
77	TRAFFIC SIGNAL FACE (PEDESTRIAN) (MAN/HAND) (COUNTDOWN)	2	EA	\$1,700.00 \$3,400.00	\$1,573.21 \$3,146.42	\$1,450.00 \$2,900.00
78	PEDESTRIAN PUSH BUTTON	9	EA	\$900.00 \$8,100.00	\$968.13 \$8,713.17	\$1,645.00 \$14,805.00
79	PEDESTRIAN PUSH BUTTON POST (55")	5	EA	\$1,750.00 \$8,750.00	\$2,057.27 \$10,286.35	\$2,600.00 \$13,000.00

7/25/2023 Page 5 7/25/2023

80	ELECTRICAL SERVICE PEDESTAL	1	EA	\$5,000.00 \$5,000.00	\$7,624.01 \$7,624.01	\$4,600.00 \$4,600.00
81	ELECTRIC SERVICE CABINET FOUNDATION	1	EA	\$1,279.26 \$1,279.26	\$3,025.40 \$3,025.40	\$850.00 \$850.00
82	CONTROLLER CABINET (NEMA) (TS2) (TYPE 1) (SIZE 6)	1	EA	\$34,347.85 \$34,347.85	\$42,355.58 \$42,355.58	\$37,300.00 \$37,300.00
83	CONTROLLER CABINET FOUNDATION	1	EA	\$1,310.83 \$1,310.83	\$3,025.40 \$3,025.40	\$1,800.00 \$1,800.00
84	EMERGENCY VEHICLE PRE-EMPTION EQUIPMENT	1	EA	\$5,000.00 \$5,000.00	\$17,184.27 \$17,184.27	\$9,100.00 \$9,100.00
85	WIRELESS RADIO	1	EA	\$3,500.00 \$3,500.00	\$6,413.85 \$6,413.85	\$8,500.00 \$8,500.00
86	INTERNALLY ILLUMINATED STREET NAME SIGNS (IISNS)	2	EA	\$7,000.00 \$14,000.00	\$14,521.91 \$29,043.82	\$9,400.00 \$18,800.00
87	SRP COORDINATION ALLOWANCE	1	AL	\$8,000.00 \$8,000.00	\$8,000.00 \$8,000.00	\$8,000.00 \$8,000.00
88	NO. 3-1/2 PULL BOX, COT T-453	36	EA	\$1,200.00 \$43,200.00	\$907.62 \$32,674.32	\$625.00 \$22,500.00
89	ELECTRICAL SERVICE PDESTAL	2	EA	\$7,000.00 \$14,000.00	\$7,139.94 \$14,279.88	\$4,800.00 \$9,600.00
90	ELECTRICAL SERVICE CABINET FOUNDATION	2	EA	\$2,000.00 \$4,000.00	\$3,025.40 \$6,050.80	\$850.00 \$1,700.00
91	CONDUCTOR (NO. 4)	4925	LF	\$6.50 \$32,012.50	\$3.63 \$17,877.75	\$5.00 \$24,625.00
92	CONDUCTOR (NO. 6)	11575	LF	\$5.70 \$65,977.50	\$3.03 \$35,072.25	\$3.25 \$37,618.75
93	CONDUCTOR (NO. 8)	4405	LF	\$5.50 \$24,227.50	\$2.48 \$10,924.40	\$2.75 \$12,113.75
94	CONDUCTOR (NO. 2)	100	LF	\$6.70 \$670.00	\$9.38 \$938.00	\$6.50 \$650.00
95	SRP 2-1/2" CONDUIT	25	LF	\$26.00 \$650.00	\$96.81 \$2,420.25	\$50.00 \$1,250.00
96	ELECTRICAL CONDUIT BORE (2") (HDPE)	850	LF	\$26.00 \$22,100.00	\$108.91 \$92,573.50	\$80.00 \$68,000.00

7/25/2023 Page 6 7/25/2023

97	STREET LIGHT CONDUIT AND TRENCH (2" PVC)	1730	LF	\$19.50 \$33,735.00	\$48.41 \$83,749.30	\$34.00 \$58,820.00
98	STREET LIGHT CONDUIT AND TRENCH (1-1/2" PVC)	1350	LF	\$19.50 \$26,325.00	\$48.41 \$65,353.50	\$30.00 \$40,500.00
99	STREET LIGHT CONDUIT AND TRENCH (1" PVC)	220	LF	\$19.50 \$4,290.00	\$66.56 \$14,643.20	\$20.00 \$4,400.00
100	STREET LIGHT ASSEMBLY, STREAMLINE POLE, COT T-651	15	EA	\$1,300.00 \$19,500.00	\$1,895.91 \$28,438.65	\$2,265.00 \$33,975.00
101	STREET LIGHT POLE, STREAMLINE POLE, COT T-651	15	EA	\$3,900.00 \$58,500.00	\$3,146.41 \$47,196.15	\$2,875.00 \$43,125.00
102	MULTI-USE PATH LIGHT COMPLETE ASSEMBLY, COT T-656	77	EA	\$2,749.50 \$211,711.50	\$7,927.33 \$610,404.41	\$8,600.00 \$662,200.00
103	MULTI-USE PATH LIGHT POLE , COT T-656	77	EA	\$2,275.00 \$175,175.00	\$6,292.83 \$484,547.91	\$7,000.00 \$539,000.00
104	STREET LIGHT FOUNDATION	92	EA	\$1,040.00 \$95,680.00	\$2,472.94 \$227,510.48	\$1,475.00 \$135,700.00
105	ITEM NOT USED	1	EA	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00
106	SPECIAL NODE CEILING LIGHTING	12	EA	\$2,112.50 \$25,350.00	\$5,929.78 \$71,157.36	\$6,800.00 \$81,600.00
107	REMOVE TREES	53	EA	\$900.00 \$47,700.00	\$1,089.14 \$57,724.42	\$1,000.00 \$53,000.00
108	TREES 24 IN BOX, 1.5 CALIPER MIN.	228	EA	\$550.00 \$125,400.00	\$816.86 \$186,244.08	\$360.00 \$82,080.00
109	SHRUBS, ACCENT AND GROUNDCOVER 5 GAL	1723	EA	\$50.00 \$86,150.00	\$36.30 \$62,544.90	\$37.00 \$63,751.00
110	DECOMPOSED GRANITE 3/4" MINUS DUTCHMAN GOLD 2 IN DEEP	92238	SF	\$1.70 \$156,804.60	\$1.00 \$92,238.00	\$1.30 \$119,909.40
111	DECOMPOSED GRANITE 1/4" MINUS DUTCHMAN RED 8 IN DEEP	41633	SF	\$3.00 \$124,899.00	\$4.21 \$175,274.93	\$3.00 \$124,899.00
112	DECOMPOSED GRANITE 1/2" SCREENED TABLE MESA BROWN 2 IN DEEP	2800	SF	\$2.00 \$5,600.00	\$2.42 \$6,776.00	\$2.10 \$5,880.00
113	ROOT BARRIER PER COT.STD.DTL. T-460-1	1716	LF	\$60.00 \$102,960.00	\$12.10 \$20,763.60	\$28.00 \$48,048.00

7/25/2023 Page 7 7/25/2023

114	LANDSCAPE AND IRRIGATION SYSTEM MODIFICATION	1	LS	\$3,000.00 \$3,000.00	\$12,101.60 \$12,101.60	\$13,000.00 \$13,000.00
115	LANDSCAPE ESTABLISHMENT 90 DAYS	3	EA	\$3,000.00 \$9,000.00	\$3,630.48 \$10,891.44	\$5,000.00 \$15,000.00
116	BACKFLOW PREVENTER PER COT.STD.DTL. T-728	3	EA	\$2,500.00 \$7,500.00	\$4,598.61 \$13,795.83	\$3,250.00 \$9,750.00
117	CONTROLLER 8-STATION PEDESTAL MOUNT	1	EA	\$6,500.00 \$6,500.00	\$16,942.23 \$16,942.23	\$13,000.00 \$13,000.00
118	SOLAR CONTROLLER, 6-STATION, PEDESTAL MOUNT	2	EA	\$4,000.00 \$8,000.00	\$4,840.64 \$9,681.28	\$1,300.00 \$2,600.00
119	1 IN DRIP VALVE, ELECTRIC	12	EA	\$300.00 \$3,600.00	\$1,173.85 \$14,086.20	\$455.00 \$5,460.00
120	FLUSH CAP ASSEMBLY (1/2 IN )	59	EA	\$35.00 \$2,065.00	\$90.76 \$5,354.84	\$112.00 \$6,608.00
121	SINGLE OUTLET EMITTER ASSEMBLY	2485	EA	\$15.00 \$37,275.00	\$24.20 \$60,137.00	\$13.00 \$32,305.00
122	MULTI OUTLET EMITTER ASSEMBLY (6 PORT)	448	EA	\$31.00 \$13,888.00	\$78.66 \$35,239.68	\$20.00 \$8,960.00
123	1 IN MASTER VALVE AND 1 IN FLOW SENSOR	1	EA	\$1,200.00 \$1,200.00	\$4,840.64 \$4,840.64	\$2,060.00 \$2,060.00
124	PRESSURE REGULATOR 30 PSI	12	EA	\$150.00 \$1,800.00	\$786.60 \$9,439.20	\$235.00 \$2,820.00
125	BALL VALVE 1 IN PVC	12	EA	\$30.00 \$360.00	\$847.11 \$10,165.32	\$325.00 \$3,900.00
126	GATE VALVE 1.5 IN BRONZE	8	EA	\$150.00 \$1,200.00	\$968.13 \$7,745.04	\$425.00 \$3,400.00
127	SCH.40 PVC IRRIGATION PIPE ¾ IN	14735	LF	\$1.50 \$22,102.50	\$4.78 \$70,433.30	\$2.60 \$38,311.00
128	SCH.40 PVC IRRIGATION PIPE 1 IN	9717	LF	\$2.50 \$24,292.50	\$6.35 \$61,702.95	\$3.25 \$31,580.25
129	SCH.40 PVC IRRIGATION PIPE 1.5 IN	240	LF	\$3.50 \$840.00	\$9.08 \$2,179.20	\$4.25 \$1,020.00
130	SCH.40 PVC MAINLINE 1.5 IN	3910	LF	\$3.00 \$11,730.00	\$12.10 \$47,311.00	\$4.25 \$16,617.50

7/25/2023 Page 8 7/25/2023

131	SCH.40 PVC IRRIGATION PIPE 1.5 IN WIRE SLEEVES	165	LF	\$3.00 \$495.00	\$30.25 \$4,991.25	\$35.00 \$5,775.00
132	2 IN IRRIGATION PIPE SLEEVE (SCH. 40 PVC)	1620	LF	\$6.00 \$9,720.00	\$18.15 \$29,403.00	\$60.00 \$97,200.00
133	3 IN IRRIGATION PIPE SLEEVE (SCH. 40 PVC)	120	LF	\$8.00 \$960.00	\$30.25 \$3,630.00	\$35.00 \$4,200.00
134	BENCH FOR NODE AREA WITHOUT BACK 17IN X 17IN	24	EA	\$850.00 \$20,400.00	\$1,574.42 \$37,786.08	\$1,900.00 \$45,600.00
135	BENCH FOR NODE AREA WITH BACK 17IN X 17IN	16	EA	\$1,364.00 \$21,824.00	\$1,960.46 \$31,367.36	\$2,500.00 \$40,000.00
136	BIKE RACK FOR NODE AREA	8	EA	\$1,200.00 \$9,600.00	\$1,398.04 \$11,184.32	\$900.00 \$7,200.00
137	BIKE REPAIR STATION	4	EA	\$3,600.00 \$14,400.00	\$1,815.24 \$7,260.96	\$11,600.00 \$46,400.00
138	EROSION CONTROL/STORM WATER POLLUTION PREVENTION PLAN ALLOWANCE (0.5%)	1	AL	\$20,000.00 \$20,000.00	\$20,000.00 \$20,000.00	\$20,000.00 \$20,000.00
139	DRINKING FOUNTAIN	3	EA	\$4,270.00 \$12,810.00	\$5,445.72 \$16,337.16	\$9,250.00 \$27,750.00
140	TRASH RECEPTACLE	3	EA	\$1,800.00 \$5,400.00	\$2,670.82 \$8,012.46	\$3,850.00 \$11,550.00
141	SHADE NODE STRUCTURE	4	EA	\$30,200.00 \$120,800.00	\$187,574.73 \$750,298.92	\$75,000.00 \$300,000.00
142	TERRAZZO FLOORING	2000	SF	\$45.00 \$90,000.00	\$97.78 \$195,560.00	\$140.00 \$280,000.00
143	VERTICAL PANELS	16	EA	\$3,200.00 \$51,200.00	\$4,356.57 \$69,705.12	\$5,250.00 \$84,000.00
144	12 IN DUCTILE IRON WATER POLYWRAP, PIPE AND FITTINGS, FURNISH & INSTALL	285	LF	\$150.00 \$42,750.00	\$133.12 \$37,939.20	\$275.00 \$78,375.00
145	12 IN VALVE, BOX AND COVER, FURNISH & INSTALL	6	EA	\$5,000.00 \$30,000.00	\$2,178.29 \$13,069.74	\$6,600.00 \$39,600.00
146	3/4 IN WATER METER SERVICE CONNECTION, PIPE AND FITTINGS, MAIN TO METER, FURNISH & INSTALL	24	LF	\$145.00 \$3,480.00	\$66.56 \$1,597.44	\$320.00 \$7,680.00
147	THRUST BLOCK ON 12 IN WATER LINE	6	EA	\$2,500.00 \$15,000.00	\$968.13 \$5,808.78	\$1,400.00 \$8,400.00

7/25/2023 Page 9 7/25/2023

148	CONNECTION TO EXISTING WATER LINE	6	EA	\$5,000.00	\$1,815.24	\$5,000.00
				\$30,000.00	\$10,891.44	\$30,000.00
149	NEW WATER METER BOX AND COVER, FURNISH &	4	EA	\$700.00	\$338.84	\$1,500.00
	INSTALL			\$2,800.00	\$1,355.36	\$6,000.00
150	ABANDONMENT OF EXISTING 12 IN WATER LINE	1	LS	\$8,000.00	\$24,203.19	\$2,000.00
				\$8,000.00	\$24,203.19	\$2,000.00
151	BIO MONITORING (MIGRATORY BIRD SEARCH)	1	LS	\$5,000.00	\$3,267.43	\$3,000.00
				\$5,000.00	\$3,267.43	\$3,000.00
152	CONTROL OF NOXIOUS PLANTS	11500	SY	\$0.50	\$0.67	\$0.50
	(MANUAL/MECHANICAL METHODS)			\$5,750.00	\$7,705.00	\$5,750.00
153	CONTROL OF NOXIOUS PLANTS (HERBICIDE)	23000	SY	\$0.25	\$0.33	\$0.50
				\$5,750.00	\$7,590.00	\$11,500.00
154	UTILITY POTHOLING	1	AL	\$3,145.00	\$3,145.00	\$3,145.00
				\$3,145.00	\$3,145.00	\$3,145.00
		Total Ba	ase Bid:	\$5,784,973.00	\$6,718,952.77	\$6,797,945.15

7/25/2023 Page 10 7/25/2023